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1. P(0 < z <1.52) = 0.4357 2. P(—0.86 < z <1.43) = 0.7287
3. P(0.68 < z<2.13)=0.2317 4. P(z>1.81)=0.0351
5.P(=2.10 < z < —0.63) = 0.2464 6.P(z>—1.38)=0.9162
7.P(z < —1.77) = 0.0384 8.P(z=2.13)=0
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1LE P0<z<k)=04370 > [k =1.53 2.% P(z>k)=0.1446 > [l k =1.06

E P(—k<z<k)=0.7016 > [k =1.04 4.% P(z>—k)=0.9495 > [l k =1.64
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(@) Px<9) = PC—H < 27103y s 9y 0.5-04772 = 0.0228 = 2.28%
- 0.65
(b)P(x>10.8):P(x_ﬂ>loi65 )= P(z>0.77) = 0.5—0.2794 = 0.2206 = 22.06%
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5-103 x—pu 10.6—

< <
0.65 o 0.65
=0.1772+0.3907 = 0.5679 = 56.79%

() fi 4 712=0.84

() P9.5<x<10.6)= P(> 03 p(—123<z<046)
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(e) fi 1 2 = £0.39

= 0.546=x-10.3 = x=10.846 ** 7]
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0.39= X103 02535=x—103 = x=10.5535
—039= x;é(s)'?’ . —0.2535=x-103 = x=10.0465
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(b) P(x > 95) = P(—# = 22 1_01 10 P(z>—1.5)=0.5+0.4332 = 0.9332 = 93.32%
o

110) =P(z>1.3)=0.5-0.4032=0.0968 = 9.68%

(a) P(x>123)= P(X—# >
o

100-110 _ x—u 120—
<X ,Ll<
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O P(C1<z<1)=0341340.3413
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(c) P(100 < x>120) = P(

= 0.6826 = 68.26%

(d) P(x <89) = P —# < 8 1_01 10) Pz —2.1)=0.5-0.4821=0.0179 =1.79%
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x—110

0.84 = 84=x—-110 = x=11847]
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P(x>12) = P(x =12)+ P(x = 13) + - = C'(0.06)2(0.94)"** + C'3(0.06)"*(0.94)*" +---



s 1213
p=np=(150)-(0.06)=9, o =1/npq =4[(150)-(0.06)(0.94) = 2.9

P(x>12)=P(x>11.5)= P(—# > 11'259_9):P(z>0.86):0.5—0.3051:0.1949
o .
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P(x212)= P(s=12)+ Pr=13) 4= (10604 + C5(0.6)(04) +--

g 1213
H=np = (15)-(0.6) =9, o= \/npq = \/(15)- (0.6)(0.4) =19

P(x>12)=P(x>11.5) = P —# ~ ”'159_9): P(z>1.32) = 0.5—0.4066 = 0.0934
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y:np:(l2)(0.5):6, o =/np :4/(12)(0.5)(0.5):1.732
55-6 6.5—-6

<z< )
1.732 1.732

= P(—0.29 <z <029)=0.1141+0.1141=0.2282
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P(x=6)=P(5.5<x<6.5)=P(

Sol :

P(45 § X § 80) _ i Clioo (O'S)k (0'5)100—k Ef.{.m\ W/

k=45

- 5 50 80

HU=np= (100)(0.5) =50, o=./npq = \/(100)(0.5)(0.5) =5
44.5-50 80.5—-50
<z< )

P(45< x < 80) = P(44.5 < x < 80.5) = P(

=P(—1.1<z<6.1)=0.5+0.3643 =0.8643



